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RIL6.5| 1 |EERERBEALEGES) 148,920 50] 74, 460 0 0 v} 0 0 0 0 0 0| 74,460
R1.6.8| 2 {HVY UL UNES) GRS 14,212 25] 3,553 3,553 ) 0 0 0 0 0 0 0 o
|, PBRRBAR (BALAA—F. 10795 , : -
[p.6.10) 3 [ZERREASL : 1.770( 50| 885 0 0 0 0 0 0 0 of 885 of
IR1. 6.10 4 |EERAKBAEGRNRE @B 1,007] 50 548 0 0 0 0 it} 0 0 0 548 0
IRI. 6.10| 5 |ZzE—#EERH2/22-5/11ERS) 13.559] 5Hol 6, 779] 0 0 1} ¢ 0 0 0 0 6.779 0
R1.6.10} 6 |®EREE EI1HS) 14,959 50F 7,479 0 0 0 0 0 0 0 0 0 1,479
|r1.6. 10 1 |EHEMERKGAS) 8,662 50| 4,331 0 0 0 0 0 0 0] 4,331 0 0
|R1. 6.10] 8 |EBFLTKERGAS) 2,732 50F 1.366 0 0 0 0 0 -0 0 1. 366 0 0
!RI. 6.10| 9 |BEERHGES) 8,470 50] 4 235 0 0 0 0 0 0 0 0] 4.235 0
R1.6.10] 10 [FA XGRS 6,495 50} 3 247 0 0 0 0 0 0 0 0] 32471 0
G 0 0 0 ¢ 0 ¢ 0 0 0 ‘0!
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lm.e_zs &REYAE 5A% 192,810 0 0 0 0 0 0 0 0 0 of 0
R1.7.10 S=R&eYAE 6R4 106, 883 0 0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 0 0
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2E 786, 936{1, 357, 874 786,936] 44,006| 30,000 0| 335,418 0 0f 22,330 93,038] 31,195 230,859




